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Question 1

Not yet answerad
Marked out of 2.00

T Flag question

chemical properties

IS

Select one

° a ’.1!"-("‘,:: on 1

environment

() b. do not depet
environment
) c. depends on its physical

environment

Q© d. depends on its intermolecular

interactions

O e. all are correct

Clear my choice
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Question 3
Answer saved
Marked out of 2.00

{ Flag question

the bolling point has:

Select one:
() a. temperature of the escaping vapor

equal that of liquid

) b. it is a characteristic of magnitude of
the Intermolecular force acting between
molecules

T~
@)

® c.a+b

d. the entire volume of the liquid has
been converted to a gas

) e. all are correct

Clear my choice
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¥ Flag guectior

NaOM « il

Select one

\_',‘ a. Watel or sa

O b salt

© c. water and sait

Q© d. water and salt and others

QO e.noone is correct

Clear my choice
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Question 3
Answer saved
Marked out of 2.00

* Flag question

the bolling peint has:

Select one:
) a. temperature of the escaping vapor

equal that of liquid

) b. it is a characteristic of magnitude of
the Intermolecular force acting between
molecules

)
@

® c.a+b

d. the entire volume of the liquid has
been converted to a gas

) e. all are correct

Clear my choice

Previous page Next page







e npoatstus tor determination of Boing polnt has:

Seect one
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WMV I
Not yet answered
Marked out of 2.00

¥ Flag question

Reagent is:

Select one:

Qa2 solid chemical or solution
have known concentrations of
solute

Q@ b. a solid chemical or solution
have unknown concentrations of
solute

O c.asolid solution only that have
known concentrations of solute

@ d.asolid chemical only that
have known concentrations of
solute

@ e. all are correct

Next page
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Question 3
Anewer saved

Markod out of
1

Flsy
questinn

Anvwer saved

Markad out of
1

Fiag
question

If eaunl masses of BaCly.2H,0 and
Nay S0, ware onginally mixed In your
unknown mixture which of the
following statemonts is correct?
MM(g/mol.): BaCly.2H,0 = 24827
NS0y = 142 05 : BaS0, =233.33

Select one
a. The limiting reactant is
BaCl;.2H,0
b. The limiting reactant is Na; S04

¢. The supernatant solution wil

aive a precipitate upon t Ing with

solution of BaCly. 2H,0

© d. Both answers (b) and (c] are

correct

0. None of the answ

Claar my choice

What is the mass of Na, S04 inthe

mixt if the percentage of

BaCl;,2H,0 13 ) ¥ and the mass of

the mixture used in the expenment s
1,75 g7
Select one
None of the answers
O 0788¢g
108¢g

06%3g

Clear my chojce
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Answer saved
Marked out of 1

~ Flag question

Consider the reaction: Hz (g + N2
@ > NH3()

Mixing of 1.5 moles of each of
hydrogen and nitrogen gases gives
how many moles of ammonia (NH3)?

Select one:
O 1.0 mol.

O 4.0 mol.
O 3.0 mol.
O 2.0 mol.
O 2.7 mol.

Clear my choice
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ant that is in excess

il are correct

s amount of reactants that react with each
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Question

Conglder tho reaction below:
MM (g/mol.) CH,=16, H,0=18
CHy ) ¢+ W0 * Hie* COw
MHow many grams of hydrogen gas (H3)
are produced when 89 of CH, are

mixed with 8 g H;07

Select one
2679

O 088g
309
159

None of the answers

Clear my choice

For the reaction betweon BaCl, 2H.0
and Na, S04, 1o determine the imiting
reactant, when the supernatent
solution Is tested with 0.5 M Na, S0,
solution no precipitate was obtained
Accordingly, which of the following

statements Is correct?

Select one
The limiting reactant is BaCl, 2H-0
The limiting reactant is N&;S0,

O None of the reactants is in excess
and the mixing between the

reactants is stoichiometric

None of the answers

Clear my choige
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Acid material can produce: |
|
tof
Select one:
sstion

® a. H+ in aqueous solution
| 3
b. OH- in aqueous solution
¢. Salt in aqueous solution
d. Salt and water in aqueous solution
€. dalt or water in aqueg

us solution

Clear my choice
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O d. Do not react with HCl '

O e. All are non-correct .
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Question 1
Not yet answered
Marked out of 2.00

" Flag question
The primary standard is

Select one:

) a. Known high degree of purity
b. Large molar mass

./ c. Non-hygroscopic

) d. React in predictable way

@® e All are correct

Clear my choice

Next page
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Not yet answered
Marked out of 2.00

{~ Flag question
Phenolphthalein indicator has

Select one:
() a. Red - brown color in acid medium
® b, Colorless in acidic medium
() ¢. Colorless in basic medium
' d. Blue color in acidic medium

) e. All are correct

Clear my choic
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Question 2
Not yet answered
Marked out of 2.00

¥ Flag question
NaOH Is considered as

Select one:
® a. strong base
O b. Strong acid
c. Produce H+
\J d. Do not react with HCI

) e. All are non-correct

Clear my choice
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Quiz navigation
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Finish attempt .

Time left 0:09:03
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Question 5
Not yet answered
Marked out of 2.00

" Flag question
Acid material can produce:

Select one:

@ a. H+ in aqueous solution
(J b. OH- in aqueous solution
O . salt in agueous solution
O d. Salt and water in aqueous solution

) e. Salt or water in agueous solution

Clear my choice
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